Ta. Complete the statement.

21 hundredths can be partitioned into
___tenthsand __ hundredth.

1b. Complete the statement.

47 hundredths can be partitioned into
___tenths and __ hundredths.

2a. Fill in the missing numbers to complete the
part-whole model.

(%)
Ol@)

2b. Fill in the missing numbers to complete the
part-whole model.

(#)
@IC)

3a. Partition the numbers represented into
tenths and hundredths.

A. B.

3b. Partition the numbers represented into
tenths and hundredths.

A. B.

4a. Complete the part-whole models below.

4b. Complete the part-whole models below.




Ta. Complete the statement and shade the
hundred square to match.

65 hundredths can be partitioned into
__ tenths and ___ hundredths.

1b. Complete the statement and shade the
hundred square to match.
23 hundredths can be partitioned into
__ tenthsand ___ hundredths.

2a. Fill in the missing numbers to complete the

part-whole model.
48
100

2b. Fill in the missing numbers to complete the

part-whole model.

3a. Partition the following into tenths and
hundredths.

78
A — = L-d and LI
100 10 100
B. —12040 = and
10 100

3b. Partition the following into tenths and
hundredths.

94
A . — = LJ and L
100 10 100
B. —12050 = and
10 100

4a. Complete the part-whole models below.

O
e

4b. Complete the part-whole models below.

A. B.




